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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is a Statutory Audit?

øıøÒıX¬ øÚı˛œé¬± fl¬±Àfl¬ ıÀ˘∑

(b) Give two examples of Contingent Liability.

¸y¬±ı… ±À˚˛ı˛ ≈øÈ¬ Î¬◊±˝ı˛Ì ±›/

(c) What is Audit programme?

øÚı˛œé¬± fl¬˜«¸”ø‰¬ fl¬œ∑

(d) What is Auditor’s Certificate?

øÚı˛œé¬Àfl¬ı˛ √õ∂Ó¬…˚˛Ì¬ÛS fl¬œ∑

(e) What is Deferred Revenue Expenditure?

≈̃Ú±Ù¬± ‡±ÀÓ¬ øı˘ø•§Ó¬ ‡ı˛‰¬ fl¬œ∑

(f) What is Test checking?

Ú˜≈Ú± ¬Ûı˛œé¬± fl¬±Àfl¬ ıÀ˘∑

(g) What is ‘Casual vacancy’ in respect of appointment of an auditor of a Limited Liability

Company?

¸œø˜Ó¬ ±˚˛˚≈Mê Œfl¬±•Û±øÚı˛ øÚı˛œé¬fl¬ øÚÀ˚˛±· ¸•ÛÀfl«¬ ë’±fl¬ø¶úfl¬ ¬Û˙”Ú…Ó¬±í ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

(h) What is Audit notebook?

øÚı˛œé¬±ı˛ ŒÚ±È¬ı˝◊ fl¬œ∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss the objectives of Auditing.

øÚı˛œé¬±ı˛ Î¬◊ÀV˙…&ø˘ ıÌ«Ú± fl¬Àı˛±/

(b) Compare between Continuous audit and Periodical audit.

Ò±ı˛±ı±ø˝fl¬ › ¬Û˚«±˚˛ı‘M øÚı˛œé¬±ı˛ ˜ÀÒ… Ó≈¬˘Ú± fl¬Àı˛±/

(c) “Vouching is the essence of an audit”—Discuss the statement.

ëëŒ˘ÚÀÀÚı˛ ¸Ó¬…Ó¬± ˚±‰¬±˝◊fl¬ı˛Ì øÚı˛œé¬±ı˛ ¸±ı˛ıd/ííñÎ¬◊øMêøÈ¬ ’±À˘±‰¬Ú± fl¬Àı˛±/

(d) Differentiate between Valuation of assets and Verification of assets.

¸•ÛøMı˛ ˜”˘…±˚˛Ú › ¸•ÛøMı˛ ’øô¶∏Q ˚±‰¬±˝◊fl¬ı˛ÀÌı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÌ«˚˛ fl¬Àı˛±/

(e) Distinguish between Divisible profit and Net porfit.

ı∞I◊ÚÀ˚±·… ≈̃Ú±Ù¬± ¤ı— øÚÈ¬ ≈̃Ú±Ù¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÌ«˚˛ fl¬Àı˛±/

(f) State  the advantages of Test checking.

Ú ≈̃Ú± ¬Ûı˛œé¬±ı˛ ≈̧øıÒ±&ø˘ ıÌ«Ú± fl¬Àı˛±/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss the right of an auditor of a Company under the Act, 1956.

1956 ¸±À˘ı˛ Œfl¬±•Û±øÚ ’±˝◊Ú ’Ú≈̧ ±Àı˛ Œfl¬±•Û±øÚ øÚı˛œé¬Àfl¬ı˛ ’øÒfl¬±ı˛&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(b) Define continuous audit. In which cases it is applicable? State the advantages of Continuous

audit. 2+2+6=10

Ò±ı˛±ı±ø˝fl¬ øÚı˛œé¬±ı˛ ¸—:± ±›/ Œfl¬±Ú Œfl¬±Ú Œé¬ÀS ˝◊˝± √õ∂À˚±Ê…∑ Ò±ı˛±ı±ø˝fl¬ øÚı˛œé¬±ı˛ ¸≈øıÒ±&ø˘ ıÌ«Ú±
fl¬Àı˛±/
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